ITB No. 19-101106 ITB Name: Ready Mix Concrete

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

Bid Opening: 5/24/2019 Price Schedule Opening: 6/18/2019

	BIDDER(S)	F.M. Shelton, Inc.			
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED NUMBER OF UNITS	UNIT	UNIT PRICE	EXTENDED PRICE
1.	Concrete, Ready Mix, Class A, 3,500 PSI	1200	Cubic Yard	\$163.84	\$196,608.00
2.	Concrete, Ready Mix, Class B, 3000 PSI	1200	Cubic Yard	\$157.44	\$188,928.00
3.	Concrete, Ready Mix, Class AA1, 4,500 PSI	50	Cubic Yard	\$168.96	\$8,448.00
4.	Concrete, Ready Mix, Class AAA,	100	Cubic Yard	\$192.00	\$19,200.00
5.	Mortar and Grout Mix	50	Cubic Yard	\$218.88	\$10,944.00
6.	Portland Cement factor other than listed.	25	Cubic Yard	No Bid	\$0.00
7.	1 percent Calcium Chloride	25	Cubic Yard	\$5.12	\$128.00
8.	2 percent Calcium Chloride	25	Cubic Yard	\$10.24	\$256.00
*9.	Retardant	25	Cubic Yard	\$3.00	\$75.00
10.	Super plasticizers added at plant.	25	Cubic Yard	\$7.68	\$192.00
11.	Super plasticizers added at the job site.	25	Cubic Yard	No Bid	\$0.00
12.	Fibermesh	25	Cubic Yard	\$11.52	\$288.00
13.	Concrete Dye (Tile Red- Class B Mix)	25	Cubic Yard	\$83.20	\$2,080.00
14.	Conveyer belts (attachment to concrete truck)	100	Each	\$38.40	\$3,840.00
15.	Pump Truck Rental	100	Day	No Bid	\$0.00
16.	Pump Truck Rental (*2.5" Line Hour Rate Only - 2 hour minimum)	75	Hour	\$160.00	\$12,000.00
17.	Delivery Charge (per jobsite) (Mobilization Fee - based on 2.5" Line)	150	Each	\$160.00	\$24,000.00
	GRAND	(\$466,987.00)			
Attendance at the Mandatory LSBE Meetting (Yes/No)			Yes		
Separate Sealed Price Schedule (Yes/No)			Yes		
SBE Ber	ichmark/GFE	Yes			
NOTES - DETAIL JUSTIFICATION					

Recommend award to the lowest, responsive and responsible bidders:

FM Shelton, Inc. 1434 Ralph David Abernathy Boulevard, SW #1, Atlanta, GA 30310

* Due to an incorrect price for line item #9, the original total price submitted by the vendor was incorrect. F.M. Shelton, Inc., clarified the pricing and stated the actual total price should be \$466,987.00

Additional bidder:

SiteMix, LLC 2310 Perimeter Park Drive Atlanta, GA 30341 (Non-Responsive - Did not submit Bid Schedule in a separate sealed envelope)

Witness Signature: Sophia Thomas Date: 2019.09.04 10.38-48-04707

Agent Signature: Kyheem Bristol Deter 2018/09/04 10:31:49-04107

Cathryn G. Horner

Digitally signed by Cathryn G. Homer Date: 2019.08.26 11:58:58 -04'00'